

Write down the appropriate number in brackets.

① $7 + (\quad) = 9$

② $8 + (\quad) = 10$

③ $4 + (\quad) = 7$

④ $(\quad) + 3 = 8$

⑤ $3 + (\quad) = 9$

⑥ $(\quad) + 6 = 10$

⑦ $(\quad) + 1 = 3$

⑧ $(\quad) + 2 = 5$

⑨ $5 + (\quad) = 9$

⑩ $(\quad) + 3 = 6$

⑪ $2 + (\quad) = 6$

⑫ $(\quad) + 4 = 5$

⑬ $6 + (\quad) = 8$

⑭ $7 + (\quad) = 10$

⑮ $(\quad) + 2 = 4$

⑯ $(\quad) + 9 = 10$

⑰ $(\quad) + 5 = 7$

⑱ $2 + (\quad) = 9$

⑲ $(\quad) + 4 = 8$

⑳ $(\quad) + 5 = 10$

Write down the appropriate number in brackets.

① () - 3 = 1

② () - 4 = 5

③ 6 - () = 4

④ 3 - () = 2

⑤ () - 2 = 2

⑥ 4 - () = 3

⑦ 9 - () = 3

⑧ () - 3 = 4

⑨ () - 4 = 4

⑩ () - 6 = 2

⑪ 8 - () = 5

⑫ 9 - () = 6

⑬ () - 1 = 6

⑭ 7 - () = 2

⑮ 5 - () = 2

⑯ () - 5 = 5

⑰ 10 - () = 3

⑱ 6 - () = 1

⑲ () - 7 = 2

⑳ () - 2 = 8

Write down the appropriate number in brackets.

① $8 + (\quad) = 15$

② $(\quad) + 4 = 11$

③ $(\quad) + 5 = 12$

④ $6 + (\quad) = 12$

⑤ $7 + (\quad) = 16$

⑥ $(\quad) + 3 = 11$

⑦ $(\quad) + 9 = 13$

⑧ $5 + (\quad) = 14$

⑨ $4 + (\quad) = 12$

⑩ $(\quad) + 7 = 13$

⑪ $(\quad) + 6 = 15$

⑫ $9 + (\quad) = 12$

⑬ $3 + (\quad) = 12$

⑭ $(\quad) + 8 = 14$

⑮ $(\quad) + 7 = 12$

⑯ $5 + (\quad) = 11$

⑰ $8 + (\quad) = 16$

⑱ $(\quad) + 5 = 13$

⑲ $(\quad) + 9 = 17$

⑳ $7 + (\quad) = 14$

Write down the appropriate number in brackets.

① $12 - (\quad) = 5$

② $(\quad) - 9 = 8$

③ $(\quad) - 6 = 8$

④ $10 - (\quad) = 7$

⑤ $13 - (\quad) = 9$

⑥ $(\quad) - 4 = 7$

⑦ $(\quad) - 7 = 8$

⑧ $11 - (\quad) = 4$

⑨ $14 - (\quad) = 6$

⑩ $(\quad) - 8 = 9$

⑪ $(\quad) - 5 = 7$

⑫ $16 - (\quad) = 7$

⑬ $17 - (\quad) = 9$

⑭ $(\quad) - 7 = 5$

⑮ $(\quad) - 3 = 8$

⑯ $15 - (\quad) = 6$

⑰ $12 - (\quad) = 4$

⑱ $(\quad) - 6 = 8$

⑲ $(\quad) - 9 = 9$

⑳ $13 - (\quad) = 8$

Calculate the following algebraic expressions.

① $2 + 8 + 3 = (\quad)$ ② $9 + 1 + 9 = (\quad)$

③ $6 + 5 + 4 = (\quad)$ ④ $7 + 6 + 3 = (\quad)$

⑤ $5 + 5 + 8 = (\quad)$ ⑥ $3 + 3 + 7 = (\quad)$

⑦ $7 + 4 + 1 = (\quad)$ ⑧ $4 + 7 + 6 = (\quad)$

⑨ $4 + 5 + 6 = (\quad)$ ⑩ $9 + 3 + 6 = (\quad)$

⑪ $7 + 4 + 5 = (\quad)$ ⑫ $1 + 3 + 3 = (\quad)$

⑬ $8 + 4 + 6 = (\quad)$ ⑭ $2 + 4 + 8 = (\quad)$

⑮ $5 + 7 + 2 = (\quad)$ ⑯ $5 + 3 + 8 = (\quad)$

⑰ $2 + 6 + 2 = (\quad)$ ⑱ $7 + 9 + 4 = (\quad)$

⑲ $9 + 5 + 3 = (\quad)$ ⑳ $1 + 5 + 7 = (\quad)$

Calculate the following algebraic expressions.

① $18 - 3 - 5 = (\quad)$ ② $15 - 4 - 7 = (\quad)$

③ $11 - 3 - 6 = (\quad)$ ④ $19 - 5 - 7 = (\quad)$

⑤ $17 - 1 - 8 = (\quad)$ ⑥ $16 - 7 - 6 = (\quad)$

⑦ $14 - 5 - 2 = (\quad)$ ⑧ $11 - 1 - 1 = (\quad)$

⑨ $10 - 2 - 4 = (\quad)$ ⑩ $12 - 3 - 9 = (\quad)$

⑪ $9 - 4 - 1 = (\quad)$ ⑫ $13 - 1 - 8 = (\quad)$

⑬ $19 - 8 - 6 = (\quad)$ ⑭ $10 - 5 - 3 = (\quad)$

⑮ $12 - 5 - 6 = (\quad)$ ⑯ $11 - 9 - 1 = (\quad)$

⑰ $15 - 3 - 3 = (\quad)$ ⑱ $17 - 4 - 5 = (\quad)$

⑲ $16 - 2 - 8 = (\quad)$ ⑳ $14 - 6 - 6 = (\quad)$

Calculate the following algebraic expressions.

① $45 - 23$

	tens	units
	4	5
-	2	3
<hr/>		

② $82 - 40$

	tens	units
	8	2
-	4	0
<hr/>		

③ $57 - 16$

	tens	units
	5	7
-	1	6
<hr/>		

④ $75 - 71$

	tens	units
	7	5
-	7	1
<hr/>		

⑤ $36 - 16$

	tens	units
	3	6
-	1	6
<hr/>		

⑥ $68 - 27$

	tens	units
	6	8
-	2	7
<hr/>		

Calculate the following algebraic expressions.

① $12 + 13 + 14$

	tens	units
	1	2
+	1	3
<hr/>		
+	1	4
<hr/>		

② $24 + 16 + 8$

	tens	units
	2	4
+	1	6
<hr/>		
+		8
<hr/>		

③ $17 + 9 + 35$

	tens	units
	1	7
+		9
<hr/>		
+	3	5
<hr/>		

④ $36 + 28 + 12$

	tens	units
	3	6
+	2	8
<hr/>		
+	1	2
<hr/>		

① $65 - 12 - 11$

	tens	units
	6	5
-	1	2
<hr/>		
-	1	1
<hr/>		

② $38 - 16 - 2$

	tens	units
	3	8
-	1	6
<hr/>		
-		2
<hr/>		

③ $82 - 21 - 11$

	tens	units
	8	2
-	2	1
<hr/>		
-	1	1
<hr/>		

④ $57 - 43 - 8$

	tens	units
	5	7
-	4	3
<hr/>		
-		8
<hr/>		

Fill in the blank with appropriate numbers.

① 10, 15, (), 25, ()

② (), 47, 45, 43, ()

③ 1, 20, 3, (), 5, 16, (), 14, 9

④ 20, (), 40, 50, ()

⑤ 1, 1, 2, 3, 3, 4, (), 5, ()

⑥ 3, 7, (), 15, (), 23

⑦ 43, 42, 41, (), ()

⑧ 2, 3, 5, 8, (), ()

⑨ 18, (), 26, (), 34

⑩ 15, 16, 18, 19, 21, (), ()